4 PEAKTRONICS MK T-119A

Actuator Controls Mounting Kit

ASSEMBLY DIAGRAM Noah NA015, 019, 028, 038, 050, 060, 080, 100, 150, 200, 250 Actuators
LARGE
H MOTOR
CAPACITOR
SMALL \ —
MOTOR

N—"
CAPACITOR -

\ If required, remount motor capacitor to /

terminal strip bracket as shown above.

For DC motors, remove the motor clearance
bracket using a phillips screwdriver.
STANDARD

CONTROLLER

R

o

G )

3

7] P

G J

G ]
MINIATURE 0
CONTROLLER |
0 ®

CONTROLLER INSTALLATION

www.peaktronics.com
PEAKTRONICS, Inc. 1363 Anderson  Clawson, Ml 48017  Phone (248) 542-5640  sales@peaktronics.com 800-179  page 1l



cgeldner
Pencil

cgeldner
Pencil


MKT-119A

ASSEMBLY DIAGRAM Noah NAO015, 019 Actuators

For NEMA 7 actuators, replace indicator dia
with 1.5" Dial "N" using Nylon Washer "M"
and existing screw and lockwashers.

(4) Switches maximum /_\
(w/standard controller) < >
(2) Switches maximum |

(w/miniature controller)

ACTUATOR

www.peaktronics.com
PEAKTRONICS, Inc. 1363 Anderson Clawson, Ml 48017 Phone (248) 542-5640  sales@peaktronics.com 800-179E  page 2



MKT-119A

ASSEMBLY DIAGRAM Noah NA028, 038, 050 Actuators

(5) Switches maximum

(3) Switches maximum
(NA028 w/miniature controller)

ACTUATOR

www.peaktronics.com
PEAKTRONICS, Inc. 1363 Anderson Clawson, Ml 48017 Phone (248) 542-5640  sales@peaktronics.com 800-179E  page 3



MKT-119A

ASSEMBLY DIAGRAM Noah NAOG0, 080, 100, 150, 200, 250 Actuators

(5) Switches maximum

ACTUATOR

www.peaktronics.com
PEAKTRONICS, Inc. 1363 Anderson Clawson, Ml 48017 Phone (248) 542-5640  sales@peaktronics.com 800-179E  page 4




MKT-119A

ITEM

OZZ-R—=—TIOMmUAOw»

not shown
not shown
not shown
not shown
not shown
not shown

N — = NN PR === N R == NN === =

KIT CONTENTS

DESCRIPTION

actuator bracket w/motor clearance bracket
adaptor plate (for NA060, 080, 100, 150, 200, 250)
8mm/1.25mm x 50mm button head cap screw
8mm/1.25mm x 40mm button head cap screw
8mm/1.25mm x 12mm socket head cap screw
#6-32 x 0.75" pan head screw

#6-32 x 0.375" pan head screw

#6-32 keps nut

8mm split ring lockwasher

#6 split ring lockwasher

0.787" nylon spacer (0.562" O.D.)

0.394" nylon spacer (0.562" O.D.)

#10 nylon washer, 0.062" thick (NEMA 7)
1.5" indicator dial (NEMA 7)

#6 x 0.187” nylon spacer

Smm/0.8mm x 10mm button head cap screw (NEMA 7)
16" red wire

16" white wire

16" blue wire

16" black wire

6.3" nylon tie wrap

www.peaktronics.com

PEAKTRONICS, Inc.

1363 Anderson Clawson, MI 48017 Phone (248) 542-5640 sales@peaktronics.com 800-179E  page 5


cgeldner
Pencil


MKT-119A

uonow Joreniie

N3dO
O
o) O J ()
IN & 1370IA @
LINIT3SOT10
@)
o) IG)
N &), NAMOYg @ @ 3SO10
LINIT N3O JVAVe
@ N9
v@ @ NOWINOD
@ a3d
OVAVe
(T)
O, a3y @ @ N3dO
H (7)
© MOov4 @
duis feulwse) Joenioe
80T-91IN
O00T-INaVv

Jojenide Jojow aseyd 111ds DV APZ
© 91| P91(0.4U0d 8 0} Jokenide DAAVZ
© SMO|fe 9NPON DA 01 DV D00T-INAV ayL

S101eNPY 820 ‘6T0 ‘STOVN LUeoN

NVHOVIA ONIFIM

4 1NAO N 2d 01 DV

g
3
8
5
g

3
O
(&N}
<t
Lo
)
N
N~—
[}
c
o
=
o
N~
—
(@]
(o]
<
=
c
g
8
O

page 6

800-179E

sales@peaktronics.com

1363 Anderson

PEAKTRONICS, Inc.



MKT-119A

@ ndino Avz+
ONILOV ISHINIY ONILOV 103d1d oD aNoD TYNOS c
uolow Jorenioe uoljow Jorenide @ AO|_ O<\ODV NIdO d m
® (070Vv/0a) 3S01D mo_m:cw w m
© (IH OV) N3dO i w
N3dO N3dO © (IHOV) 3S010 - W
© NOWNOD N3dO |
m m ® NOWWWOD 3SOT0 ~
m o anag m @ a3y ®© ® QNS HLuva |
m ® ALIHM m ® ALIHM © © AN T
M @ a3y M o anig © © IVHLNAN 2T °
© © T o

page 7

800-179E

sales@peaktronics.com

Clawson, Ml 48017 Phone (248) 542-5640

1363 Anderson

VEOT-INY DVAPES
E0T-INV DOVALIT

SI0NPY 0S¢ ‘00¢ ‘05T ‘00T ‘080 ‘090 ‘050 ‘8€0 ‘820 ‘610 ‘STOVN UeON
Sd3110d1NOD 440/NO OV

NVHOVIA ONIFIM

PEAKTRONICS, Inc.



MKT-119A

@ ndino Avz+
ONILOV ISHINIY ONILOV 103dId oD aNoD TYNOS
uoljow Jorenixe uoljow Jorenide @ AO|_ O<\UDV N3dO d
® (072Vv/0Q) IS0 seubs
© (IH OV) N3dO g I
N3dO N3dO © (IHOV) 3S010 -
© NOWWOD N3O |
® NOWIOD 3SOT1D ~
M umv@ anTg m umv@ a3 ® ®© QNS HI1dv3 |
M __m@ ALIHM M n__uu,@ ALIHM © © AN T
*3® a3 *50 anTg © © IVALNANZT -
c ar

‘Buliim DO0T-INQY 89S 'Pa|[eIsul 8NPOIN OA 0} DV
D00T-INAYV Ue yiim Joenide DAAPZ e sesn uoieoljdde siyL ‘310N

deoT-INV DOVAYe

SI0ENPY 820 ‘6T0 ‘STOVN UeON
d3T104LNOD 440/NO DVAVL

NVHOVIA ONIFIM

g
&)
&
S
g

(@]
3
O
(&N}
<t
Lo
)
N
N~—
[}
c
o
=
o
N~
—
(@]
(o]
<
=
c
g
8
O

page 8

800-179E

sales@peaktronics.com

1363 Anderson

PEAKTRONICS, Inc.



MKT-119A

ONILOV FSHINTAH ONILOV 1034d1d
uolow Joreniae uoljow Jorenide O
xA (AND) dIdL m < m
O—F——— A= 3
S31) didL 0 et | O oroveo a0
(ON) dIdL £ ®
————1+) o o (0712Vv/0Q) 3ISOT1O seubss
(NOD) didL 22 | omoe [
N3dO N3O CPTTEAZ, © (IH OV) Nado
duis feulwse) Jorenioe duis feulwsel Jorenioe © (IH OV) 3S010 -
(0) I\ -
e[V ana e REN TRESSSIRS O onnoo Nk
o) o)
z a3y S a3y z ng & an1g LINIT N3O @ @ NOWWOD 3FSOT10 ~ L1/
D= oo D ®
cmw._u_._._\s J1IHM Mom._m.I\S J1IHM NOD LINIT V@ aNS H14dVv3 B
o hm @ J1IHM o LHM 0 31 IHM © 93N lvd —
) D —
Y a3 O Movd ¢ HO1lOWN @ +
1@@ SOV g @@ REN Toon [ © SOd 1vd SANZ/ET
c ar
VO0T-Ddd / 001-Ddd
YOOT-1ING / 0O0T-1INd
SJoenY 820 ‘6T0 ‘STOVN YeoN ANVHOVIA SNIFIMN

Sd31T10d1LNOD 440/NO Od

g
&)
&
S
g

(@]
3
O
(&N}
<t
Lo
)
N
N~—
[}
c
o
=
o
N~
—
(@]
(o]
<
=
c
g
8
O

page 9

800-179E

sales@peaktronics.com

1363 Anderson

PEAKTRONICS, Inc.



MKT-119A

ONILOV ISHIAN3IY

ONILOV 10341d

uolow Joreniie

N3dO
d
W @ N9
W_N. @ 31IHM
M @ a3d
°

dins euiusel Joenioe

uonow Jofenioe

N3dO

@ a3y

@ 31IHM

) NOWWOD

@ N4

ans @

(feuondo)
HOLIMS 13534
IVNY3LX3

13534 )

) LNdLNO 3SOTD

) LNdLNO N3dO

IvHLN3AN -

AN Q+——

o

VOOT-1SV DJVAvrEC
00T-1SV OVALTT

S101eNPY 820 ‘6T0 ‘STOVN LUeoN

SY3NIL IONINO3S IV

NVHOVIA ONIFIM

g
&)
8
S
g

3
O
(&N}
<t
Lo
)
N
N~—
[}
c
o
=
o
N~
—
(@]
(o]
<
=
c
g
8
O

page 10

800-179E

sales@peaktronics.com

1363 Anderson

PEAKTRONICS, Inc.





